SCOTT POLLOCK T 613.787.3541 spollock@blg.com Borden Ladner Gervais LLP World Exchange Plaza 100 Queen St, Suite 1300 Ottawa, ON, Canada K1P 1J9 T 613.237.5160 F 613.230.8842 F 613.787.3558 (IP) blg.com



Our File # 339583-000262

By electronic filing

December 10, 2019

Christine E. Long Registrar and Board Secretary Ontario Energy Board P.O. Box 2319 2300 Yonge Street, Suite 2701 Toronto ON M4P 1E4

Dear Ms. Long

Re:

Independent Electricity System Operator ("IESO")

2019 Revenue Requirement Application

Board File #: EB-2019-0002

Pursuant to the Board's Decision and Order dated December 5, 2019, we enclose a Cost Claim on behalf of our client, Canadian Manufacturers & Exporters ("CME").

A copy of this Cost Claim has been forwarded to IESO as instructed in the Decision and Order.

Please contact us if you have any questions or require any additional information.

Yours very truly

Borden Ladner Gervais LLP

6 Des

Scott Pollock

Encl.

C

Miriam Heinz (IESO) – by email Alex Greco (CME) – by email

OTT01: 9856587: v1

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

Carlot Marie 19				Instructions	17.25年5年				
- Required data	a input is ir	dicated by yellow-shade	d fields. Formulas	are embedded	in the form to	assist with calculation	ons.	-	
- All claims mu	ist be in Ca	nadian dollars. If applica	able, state exchan	ge rate and cou	intry of initial o	urrency.			
			Rate	111111111111		Country:			
Being Claimed Disbursements - The cost clair - A CV for each	") is require s" covering m must be n consultan	es and Disbursements Be ed for each lawyer, analy the whole of the party's supported by a complete t/analyst must be attach ovided in section 7.03	est/consultant and cost claim should ad Affidavit signed aed unless provide	articling studer be provided. by a represent d to the Board a Direction on	nt/paralegal. Interpretation of the parass prescribed cost Awards	rty. on the Cost Award Ta , itemized receipts	Summary of Fees an riff. must be provide	d *	
	Mar.		_			y System Operat			
File # EB-	2019-00	002	Process: 2			2019 Revenue Requirement Application			
Party: Canadian Manufac		n Manufacturers &	cturers & Exporters Affi		ant's Name	ant's Name: Scott Pollock			
HST Numbe	er: <u>10</u>	er: 10807 5482 RT0001		. " 	HS	Rate Ontario:	13.00%		
- - ·	ř	Full Registrar Unregistere Othe	d 🔲		Qualif	ying Non-Profit Tax Exempt			
			大学	Affidavit					
I,	Scott P	ollock		, of the Ci	ty of	Ottawa			
in the Prov	vince of	·	Ontario			, swear or affi	rm that:		
1. Lam a repre	esentative (of the above-noted party	(the "Party") and	as such have k	nowledge of th	ne matters attested to	o herein.		
2. I have exam Claimed", "Sta 3. The attache Being Claimed referred to ab	nined all of atement(s) ed "Summa d" include c pove.	the documentation in su of Fees Being Claimed" a ry of Fees and Disbursen nly costs incurred and ti	apport of this cost and "Statement(s) ments Being Claime me spent directly	claim, including of Disbursemer ed", "Statement for the purpose	g the attached ints Being Claim t(s) of Fees Bei es of the Party'	"Summary of Fees ar ned". ng Claimed" and "Sta s participation in the	nd Disbursements Bo atement(s) of Disbur Ontario Energy Boa	sements rd process	
		ot include any costs for v f the Board's Practice Dir			rson that is an	employee or officer	of the Party as desc	ripea in	
S	4/	det .					1 S		
Signature									
Sworn or a	affirmed	I before me at the	City of	Ottawa					
in the Province of Ontario				on_	December 10				
						(date)			
Committee		tolding Affidentia			-				
Commission	oner for	taking Affidavits							

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

Independent Electricity System Operator (IESO)

File # EB-

2019-0002

Process: 2019 Revenue Requirement Application

Party:

Canadian Manufacturers & Exporters

	Summary of Fees and Disbursements Being Claimed				
Legal/consultant/other fees	\$7,752.00				
Disbursements	\$0.00				
HST	\$1,007.76				
Total Cost Claim	\$8,759.76				

Payment Information

Make cheque payable to: Borden Ladner Gervais LLP

Send payment to this address: Borden Ladner Gervais LLP

Attention: Emma Blanchard

World Exchange Plaza

100 Queen Street, Suite 1300

Ottawa, ON K1P 1J9

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	Independent Electricity System Operator (IESO # EB- 2019-0002 Process: 2019 Revenue Requirement Application						
Party:	Canadian Manufacturers & Ex	•					
raity.	Service Provider Type	(check one)	Year Called to Completed Yea			Completed Years Practising/ Years of Relevant Experience	
	Legal Counsel Articling Student/Paralegal		[2016	[3	
	Consultant Analyst For Consultant/Analyst:		Hourly Rate: \$170. CV attached HST Rate Charged (enter %) 139 CV provided within previous 24 months				
	Si	tatement o	f Fees Beir	ng Claimed			
		Hours	Hourly rate	Subtotal	HST	Total	
Pre-Hearing	g Conference		B, New A		•		
	Preparation	1.20	\$170.00	\$204.00	\$26.52	\$230.52	
	• Attendance		\$170.00	\$0.00	\$0.00	\$0.00	
Technical (Conference						
	Preparation		\$170.00	\$0.00	\$0.00	\$0.00	
	Attendance		\$170.00	\$0.00	\$0.00	\$0.00	
					4	62.205.00	
Interrogat		11.90	\$170.00	\$2,023.00	\$262.99	\$2,285.99	
	Responses		\$170.00	\$0.00	\$0.00	\$0.00	
Issues Con	forence						
issues Con	Preparation	- X	\$170.00	\$0.00	\$0.00	\$0.00	
	Attendance		\$170.00	\$0.00	\$0.00	\$0.00	
	Attendance		V 4.70.00	, , , , , , , , , , , , , , , , , , ,	Ψ 0.00		
ADR - Settle	ement Conference						
	Preparation	10.00	\$170.00	\$1,700.00	\$221.00	\$1,921.00	
	Attendance		\$170.00	\$2,193.00	\$285.09	\$2,478.09	
	Proposal Preparation	1.80	\$170.00	\$306.00	\$39.78	\$345.78	
Argument	Preparation	7.80	\$170.00	\$1,326.00	\$172.38	\$1,498.38	
Oral Hearin	ng Preparation		\$170.00	\$0.00	\$0.00	\$0.00	
Orar ricarn	Attendance		\$170.00	\$0.00	\$0.00	\$0.00	
	·		1 22,0,00	75.00			
Other Conf	ferences		77.53				
	Preparation		\$170.00	\$0.00	\$0.00	\$0.00	
	Attendance		\$170.00	\$0.00	\$0.00	\$0.00	
Case Man	agement		\$170.00	\$0.00	\$0.00	\$0.00	
TOTAL SE	RVICE PROVIDER FEES			\$7,752.00	\$1,007.76	\$8,759.76	

Ontario Energy Board COST CLAIM FOR HEARINGS

Detail of Fees being Claimed

File #:	EB-2019-0002						
Process:	Independent Electricity System Operator (IESO) 2019 Revenue Requirement Application						
Party:	Canadian Manufacturers & Exporters						
Name:	Scott Pollock						
Feb 27-19	Reviewing IESO's 2019 Rate Application	1.2	Pre-hearing Conf. Prep				
Mar 13-19	•	3.1	Interrogatory Prep				
Mar 15-19	Reviewing application and preparing Interrogatories Reviewing application and drafting Interrogatories		Interrogatory Prep				
Mar 28-19	Reviewing updated evidence	0.9 0.3	Interrogatory Prep				
Apr 4-19	Reviewing application and drafting Interrogatories	0.4	Interrogatory Prep				
Apr 9-19	Reviewing application and drafting Interrogatories	5.1	Interrogatory Prep				
May 1-19	Reviewing Interrogatory Responses	1.1	Settlement Conf Prep				
May 2-19	Reviewing Interrogatory Responses		Settlement Conf Prep				
May 7-19	Reviewing Interrogatory Responses	2.7 3.2	Settlement Conf Prep				
July 15-19	Reviewing application and Interrogatory Responses in advance of Settlement Conference	2.4	Settlement Conf Prep				
July 16-19	Telephone call with client re: Settlement Conference	0.2	Settlement Conf Prep				
July 17-19	Attending Settlement Conference	6.2	Settlement Conf Attend				
July 17-19	Reporting letter to client re: Settlement Conference	0.4	Settlement Conf Prep				
July 18-19	Attending Settlement Conference	6.7	Settlement Conf Attend				
July 19-19	Reviewing IESO response to further settlement discussions	0.1	Settle, Conf. Proposal				
July 22-19	Intervenor call re: settlement discussions	0.8	Prep Settle. Conf. Proposal Prep				
July 23-19	Reviewing settlement communications; drafting reporting email to client	0.4	Settle. Conf. Proposal Prep				
July 31-19	Telephone call with client re: settlement proposal draft	0.3	Settle. Conf. Proposal Prep				
Aug 2-19	Reviewing partial settlement proposal to OEB	0.2	Settle. Conf. Proposal				
Aug 28-19	Reviewing updated evidence	0.4	Prep Interrogatory Prep				
Sept 10-19	Reviewing updated Interrogatories	0.5	Interrogatory Prep				
Sept 11-19	Reviewing updated record; drafting Interrogatories	1.2	Interrogatory Prep				
Oct 1-19	Reviewing updated Interrogatory Responses	1.5	Argument Prep				
Oct 24-19	Reviewing updated Interrogatories; drafting submissions	3.6	Argument Prep				
Oct 25-19	Drafting and revising submissions	2.7	Argument Prep				
-	Total Hours for Scott Pollock:	45.6					

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed

	<u>Hours</u>			Fees
Pre-hearing Conf. Prep	1.2	x \$170.00/hr =		204.00
Pre-hearing Conf. Attend	0.0	x \$170.00/hr =		0.00
Technical Conf. Prep	0.0	x \$170.00/hr =		0.00
Technical Conf. Attend	0.0	x \$170.00/hr =	· ·	0.00
Interrogatory Prep	11.9	x \$170.00/hr =		2,023.00
Interrogatory Responses	0.0	x \$170.00/hr =		0.00
Issues Conf. Prep	0.0	x \$170.00/hr =		0.00
Issues Conf. Attend	0.0	x \$170.00/hr =		0.00
Settlement Conf. Prep	10.0	x \$170.00/hr =		1,700.00
Settlement Conf. Attend	12.9	x \$170.00/hr =		2,193.00
Settle. Conf. Proposal Prep	1.8	x \$170.00/hr =		306.00
Argument Prep	7.8	x \$170.00/hr =		1,326.00
Oral Hearing Prep	0.0	x \$170.00/hr =	· · · · · · · · · · · · · · · · · · ·	0.00
Oral Hearing Attend	0.0	x \$170.00/hr =		. 0.00
Other Conf. Prep	0.0	x \$170.00/hr =		0.00
Other Conf. Attend	0.0	x \$170.00/hr =	v 15 v	0.00
· · · · · · · · · · · · · · · · · · ·	45.6	Total Fe	\$7,752.00	

OTT01: 9781172: v1